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éible\%y 7 or 13.
[CO1] [2M]

[CO1] [2M]

Q1. Find the number of positive integers not exceeding 1000 tha !

Q2. Write the dual statement for the following:
® AuB=(AnB)u(AnBC)u(A'-"nBJ-
(i) (AUB)N(AUP)=A o

thecross partition of the following partitions of S:
3,3,4},{5,7},16,8,9}. [CO1] [2M]

ire are two non-bald people who have the same number

Q3. (a) Suppose § = {1,2,3,4,5,6,7,8,9}. F
P, = [{1,3,5,7,9},{2,4,6,8}], and'~‘
(b) Justify that “In Himachal Prade ;

of hairs on their head”. Hint: Asstme:that any person can have at most 500000 hairs on their head. [IM]

Q4. (a) Suppose R = (1_ ):-(2‘4) (3,4),(4,2)} denote a relation on the set 4 = {1,2,3,4}.

Compute R?, and R [CO2] [3M]
(b) Prove’ or dlspr that £(x) = 5x3 — 3x% + 11x — 6 is Big-O of x3. [2M]
QS Suppose P enote the set of all humans. Define a relation R on P given by:

R= {(x, y) “x and y have same age in years} € P X P. [CO2] [3M]

Justify whether R is an equivalence relation or not?

Aok



